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(*),+ �-��./.0��1�243,5620798�: +<;>=?=/),+A@CBED &GFHF'&�F D ��� =/),+9= : = �JI�2 ; . =4),+ 1 +#+GK ���
LM; I-N )PO6= �RQ�S�T�U�U O�V

1) WYX I�243 = ��: = �J� =4),+[Z N#��8 + 24\ X . + \ + 3 =�;G= 20��3P��� =4),+ X 7 + :,8�� - N]��8 + ��I��#\ =4),+ X I +G^ 2���:,7; 7�7
2�5�3�\ + 3 =0_�(*),+[Z N#��8 + \�:,7 =`),;>^,+<; X�X I-� X I�2 ;>=0+ N#�#\�\ + 3 = 7 ; 3,862 ndentation.
2)

(*),+ ��: = X : = ��� =4),+[Z X I-��5�I ; \a243,N>.4:,8�2/3,5 ;>= . +#; 7 =?=4) I +]+ 5�����8 =0+ 7 = N ; 7 + 7 _�b�cd+#+A=/),+fehg U�i
1 +>j 7
2 =�+ ����Ik2/3�����I�\ ;G= 20��3P��3 ) ��1 = �lN ; X = :�I + X I-��5�I ; \m��: = X : =0_on

3)
(*),+ X 7 + :,8�� - N#��8 +9=/),;>=`=/),+[Z N#��8 + 2�7 jd; 7 + 8l��3 _�p . ; N +9q ��:�I X 7 + :d8�� - N#��8 +[; 7 ; 3 ; X�X + 3,8�24r ;>=
=/),+9s W ZCt �#� =4),+[; 7�7
205�3 \ + 3 =�_6uwvx(zy{V}| � q ��:�I X 7 + :,8�� - N#��8 +9)d; 8 + I�I-��I-7~2/3l2 = S q ��:l\�:,7 = ��24r
=/),+<+ I�I-��I-7 ; 3d8l7
: j \�2 =?=4),+ 3 + 1 X 7 + :,8�� - N]��8 + 1�2 =4)R=/),+[Z N]��8 +#_

u�v�(zy{V}p . +#; 7 + 2/3,N>.4:,8 +Aq ��:�I = : = �JI�2 ; .?3�:�\ j,+ I���3 +G^d+ I qP; 7�7�205�3 \ + 3 =0_6�E+ \ + \ j,+ I =4),;>=?=4)d+9= � X -X ; 5 +��� +G^,+ I qP; 7G7
2�5�3�\ + 3 = 207 = �{243,N>.4:,8 +A=/),+ 7 =0;>=�+ \ + 3 =�V
� (*) 207 ; 7�7�205�3 \ + 3 = I + X I + 7 + 3 = 7,\ q ��1�3�1'��I K,�
����.4.���1 + 8 j�qlq ��:�I�7
205�3 ;>= : I + S ; 3,8 q ��:�I + -\ ; 24. ; 8�8�I + 7�7 _�� ��:l3 +#+ 8 = �6243,N>./:,8 +A=/) 207~2/3��-��I�\ ;>= 2���3,S���I
q ��:�I ; 7�7
2�5�3�\ + 3 = \ ; I K 1x2/.4. j,+9�*y*�Ev'_

Problem

(*),+ X I-� j . + \m1 ; 798 + 7�N>I�2 j,+ 86243 =4),+ X I +>^ 20��:,7 ; 7�7
2�5�3�\ + 3 =0_�� I�2 =0+[;<Z X I���5�I ; \ j,; 7 + 8l��3 =4),+
pseudo- N#��8 +A=4),;>=`q ��:P8 +>^d+ .�� X + 86����I =/),+ X I +G^ 2���:,7 ; 7G7
205�3�\ + 3 =�_
F'�d�"!#�G���]���k�����d�/�0�#��$������

� 2 ^,+ 3 E � e T ^ ��. = 7 ; 3,8 ; 7 +G^,+ 3 + . + \ + 3 =*; I�I ;>q ���kI + 7
207 =�; 3,N +�^,; .4: + 7 ; 7	�-��./.0� 1H7 V R1 � T _o� Ω S �
2� T _ Q

Ω S R ��� U _o� Ω S R4 � T O�_ U Ω S R5 � e
.7 Ω S R6 � e U _ i Ω S R7=1.5Ω

Compute:
(i) N#��\ X : =0+A=4),+A^,; ./: + R
(ii) N#��\ X : =0+A=4),+ NG:�I�I + 3 =?� 243 ; N]N#��I-8 ; 3dN + 1x2 =4)Pv�) \���7~. ; 1
(iii) N#��\ X : =0+A=4),+ \ ; r�2/\�:�\ ^~; .4: + ��� Ri

| 3 ; 8�8�2 = 2���3 q ��:�I X I-��5�I ; \�\�:,7 = I +#; 862/3 ; 3,8lN ),+ N KR=4),+A^,; ./2�8�2 =4q ��� =/),+ 5�2 ^,+ 3RI + 7�207 =0; 3,N +A^,; .4: + 7 ; 3,8
I +>= :�I�3 ; :,7 + I	243 X : =?^,; .4: +z=4),;>= 207�5�I +#;>=0+ I =/),; 3P� + I-� _ W .�7��lN>I +#;>=�+[; 3,86I�:�3 = 1H�{\���I + 7 +G= 7����	I + 7
207 =0; 3,N +
^,; .4: + 7 ; 3,8 = I q 7���\ + 243 ^,; .42�8 ^,; ./: + 7 ; 7�1 + .4. _�LM;GK,+ 7
:�I +9q ��:PN ; X = :�I +[; .4. =/),+ ��: = X : = I + 7
:�. = 7 ; 3,8 =0+ 7 =
cases.


